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AR A o Ak 4 AdE ot H2FZ A&

OFFaLAA 154,766

o718+ 110,000

Od&3]dAE = 524,0009) %12 6,288

Oz1&FA T3 S5 870,0009 %124 10,440

OFAeH 770,000 124 9,240

O%strEs 784,500 %12 9,414

O AN AFFe(AF=7) 1,192,000 %23] 2,384

OMHASMIELTRERST  200,0009+10%] = 2,000

OAF&2HAI(5T) 3,000

OR¥E52% 2,000

CIA A 2 a] A2 v 1,000

OAHF7171, 717, Bl 5 A # 2] 1] 1,000

Wb ] 22,000

OztgFdA sy, FANHEEA S 22,000

TEAS Yo 23 B 2,000

OA 1] Bl o] oF35H] 2,000

A E vl A o] 3 A 3] 1) 1,600,000¢%13] = 1,600

202 ©] 9] 14,900 18,620 A3,720

14,900 18,620 A3,720 |01 =rujofH] 14,900
Oat 257084 7571 ofH) 14,900
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(9 )
BA - -39 - AR - FGE o Ak 4 AYE g2 H| 25 A&
405 2 54 8,250 8,000 250
8,250 8,000 250 8,250
1,450,000 %50 = 7,250
500,000 #2t = 1,000
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